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0.2 3 19 107 6,220 5,508 — - — — — — —
0.3 3 19 10 4,230 3,807 - - - = = = =
ez 0.4 5 20 104 3,610 3,253 — — — - - - -
05 6 22 104 2,780 2,502 = = = - 6,620 5,959 -
0.6 7 24 o0& 2,780 2,502 — — — - 6,010 5416 —
Hv7- 0.7 9 28 S 2,510 2,259 = = = = 5,540 4,985 =
RURNIE 0.8 10 30 oS 2,250 2,025 — — — — 5,270 4,742 —
0.9 11 32 107 2,380 2,142 = = - - 5,030 4,528 -
S 1 12 34 104 2,080 1,868 - 3,840 3,456 - 5,030 4,528 —
T 1.4 14 36 107 2,380 2,142 = 4,490 4,041 = 4,770 4,204 =
1.2 16 38 104 2,250 2,025 — 4,230 3,807 - 4,530 4,081 —
IS542A 1.3 6 38 £ 2,380 2,142 = 4,490 4,041 - 4,770 4,204 -
ST 1.4 8 40 o0& 2,380 2,142 - 4,490 2,041 - 4,770 4,204 —
IR 1.5 8 40 ES 2,050 1,839 - 3,840 3,456 - 4,770 4,294 -
1.6 20 43 1074 2,110 1,899 - 4,230 3,807 - 3,610 3,253 —
IEHITE 1.7 20 43 104 2,380 2,142 - 4,490 4,041 - 3,960 3,564 -
1.8 22 46 107 2,250 2,025 — 4,370 3,933 — 3,610 3,253 —
1.9 22 46 104 2,250 2,025 = = = - 3,610 3,253 =
W—s 2 24 49 OES 2,020 1,821 — 3,840 3,456 - 3,570 3,213 —
2.1 24 49 S 2,250 2,025 = 4,370 3,933 = 5,200 4,686 =
2.2 27 53 (ES 2,250 2,025 - 4,370 3,933 - 5,200 4,686 —
MTAE 2.3 27 53 104 2,250 2,025 - 4,230 3,807 - 4,730 4,255 -
= 2.4 30 57 104 2,250 2,025 - 4,370 3,933 - 5,200 4,686 -
2.5 30 57 107 2,020 1,821 - 3,840 3,456 = 4,630 4,167 =
HEIE: 2.6 30 57 104 2,250 2,025 — 4,230 3,807 — 4,630 4,167 —
Alise 27 33 6 £ 2,250 2,025 = 4,230 3,807 - 4,730 4,255 -
2.8 33 6 [BES 2,110 1,899 — 4,100 3,690 - 4,990 4,488 -
_ 2.9 33 6 [OES 2,250 2,025 = 4,230 3,807 - 4,730 4,255 -
MEBIE 3 33 61 1074 1,720 1,548 - 3,430 3,087 - 4,630 4,167 —
31 36 65 104 2,510 2,259 = 4,890 4,401 - 5,650 5,083 -
IR 3.2 36 65 1074 2,250 2,025 — 4,230 3,807 — 5,650 5,083 —
= 3.3 36 65 104 2,250 2,025 = 4,760 4,284 - 5,650 5,083 =
Fata 3.4 39 70 104 2,380 2,142 — 4,230 3,807 - 4,620 4,241 —
- 3.5 39 70 1074 2,250 2,025 = 5,020 4,518 = 5,420 4,878 =
e 3.6 39 70 107 2,780 2,502 - 5,200 4,761 - 6,260 5,640 -
AR 37 39 70 104 2,780 2,502 = 4,760 4,284 = 6,260 5,640 =
3.8 43 75 104 2,380 2,142 - 5,420 4,878 - 6,260 5,640 -
FeeTE 3.9 43 75 [GES 2,780 2,502 = 4,760 4,284 = 6,260 5,640 =
4 43 75 o0& 2,380 2,142 - 4,840 4,449 - 5,300 4,863 —
41 43 75 [OES 3,310 2,979 = 6,220 5,598 - 6,980 6,280 -
B 4.2 43 75 1074 3,070 2,765 — 5,690 5,121 - 6,150 5,542 -
EETE 4.3 47 80 10 3,310 2,979 = 6,220 5,598 - 6,150 5,542 -
4.4 47 80 104 3,310 2,979 — 6,220 5,598 — 6,150 5,542 —
o 4.5 47 80 104 3,070 2,765 = 5,690 5,121 - 6,150 5,542 -
leea i 4.6 47 80 S 3700 3.330 - 6.080 5,586 = 7,860 7,081 =
4.7 47 80 S 3,700 3,330 = - - = 6,700 6,160 =
BRI, 4.8 52 86 (ES 3,700 3,330 - 6,080 5,586 - 7,860 7,081 -
B 4.9 52 86 107 3,840 3,456 - - - - 7,860 7,081 -
R 5 52 86 104 3,430 3,087 - 5,630 5171 - 6,530 6,001 —
S 5.1 52 86 107 3,840 3,530 - 7,090 6,516 = 7,440 6,831 =
i 5.2 52 86 104 4,100 3,690 — 6,530 6,001 - 8,740 8,027 —
REMm 5.3 52 86 104 3,840 3,530 = 7,090 6,516 - 8,740 8,027 -
5.4 57 93 104 3,840 3,530 — 7,090 6,516 — 8,740 8,027 —
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